ORIS

HOLSTEIN 1804

saas4)

07 1 20 72FC =I5y Tr—ILTa TN v 9L SS 58, 000
07 1 22 10FC soasqIL A= ITS5ov T+—ILTaTRNv )L SS 55, 000
07 1 22 72FC yaagq4IL =0Ty Tr—ILTa TNyl SS 58, 000
07 1 23 71FC soasqIL JL— T+—ITaTRNv o)L SS 49, 000
07 1 23 72FC A== e I5v79 Tr—ILTa TN v 9L SS 49, 000
07 1 23 73FC soagqIL A= TS5 T+—ITaFRNv o)L SS 49, 000
07 12376 A== e Ioor (HiR) B 18K G 138, 000
07 123 78 soagqIL gL— T+—ITaTnNv o)L 18K G 138, 000
07 1 23 82 A== e I5v9 (Xyb) Tr—ILTa TN u 9L 18K G 138, 000
07 1 23 83FC soasqIL A= TS5 T+—ITaTRNv o)L SS 49, 000
07 1 23 84FC A== e Ly FIooY Tr—ILTa TN u 9L SS 49, 000
07 1 23 86 soasqIL A= ITS5HY T+—ITaFRNv o)L 18K G 138, 000
07 1 23 87FC A== e TIL— Tr—ILTa TNyl SS 49, 000
07 4 17 18 SN—R Sy T 23599 =573 SS 18, 000
07 4 18 63FC SN—Rb+59TF R4 Tr—ILTa TN u 9L SS 26, 000
07 4 18 64FC SN—R+SyT 23599 T+—IT4 TNy 9L SS 26, 000
07 4 19 01FC SN—R 59T To99 Tr—ILT 42T v oL SS 18, 000
07 4 20 18 SN—R+SyT 23599 B SS 15, 000
07 4 21 18 SN—R 59T To99 =5 SS 15, 000
07 4 21 64FC SN—R Sy T 23599 T+—IT4 TNy 9L SS 27, 000
07 4 22 05 SN—R 59T To99 Tr—=ILTa TN v oL SS 15, 000
07 4 22 05B SN—R+SyT 23599 T+—IT4 TNy 9L 25 v PVD 16, 000
07 4 22 05G SN—R 59T To99 Tr—ILT 42T u 9L 4 L—PVD 16, 000
07 4 24 06FC SN—R+SyT 23599 Tr—ILT4 TNy 9L SS 27, 000
07 4 24 50FC SN—R 59T To99 Tr—ILTa TN u oL SS 22,000
07 4 24 50FCTB SN—R Sy T 23599 T+—IT4 TNy 9L FAY 34, 000
07 4 24 54FCTB SN—R 59T To99 Tr—=ILTa TN u 9L FEY 39, 000
07 4 24 63EB SN—RF+SyT gL— TH—ILT 42Ny | SS., THRTFUYaUftE 29, 000
07 4 24 63TEB SN—R+S5vF A TA—ITADTINY T |FRY, TVRTFUYaUtE 35, 000
07 4 24 64EB SN—R+SyT 23599 TH—ILT 42Ny | SS., THRTFUY aUtE 29, 000
07 4 24 64TEB SN—A+Sy T T599 TH—=ILTAUTNY DI |[FEY, THVRTUYaVGE 35, 000
07 4 24 65EB SN—RbrSvT JI— TH—ILT 4Ny | SS. THRTFUYaUtE 29, 000
07 4 24 66TEB SN—R+S5vF Ly k TA—IT AT T |FRY, TVRTFUYaUtE 35, 000
07 4 26 33BEB SN—R+S9T 4 To— TH—IT 4G9 | T59H9PD, THRTFUSavftE 31,000
07 4 26 34BEB SIN—RA LS5y T I3599 TH—ILTATINYTIL | TS9P, THRTFULavitE 31, 000
07 4 26 34EB SN—R+SyT 72599 TH—ILT 42Ny I | SS. THRTFUYaUftE 26, 000
07 4 26 74TEB SN—A+SyT T599 TH—=ILTAUTNY DI |[FEY, THVRTUYaVGE 38, 000
07 5 14 31 LY—R+S9 T 1) —L =53 SS 9, 000
07 5 14 32 LHF—X bS5y B—5IT59y =5+ SS 9, 000
07 5 14 33 LYF—R+b59 T 54 LT L— =53 SS 9, 000
07 5 14 35 LHF—X S5y T599 =5+ SS 9, 000
07 5 14 52 e S I3 =53 SS 7,000
07 5 14 63FC LHF—X bS5y RV K— T+—ILTaTRNv o)L SS 19, 000
07 5 14 64FC LYF—R+b59 T I59%9 Tr—ILT4 TNyl SS 19, 000
07 5 14 65FC LHF—X bS5y B—5T59 T+—ILTaTRNv o)L S 19, 000
07 5 17 28 TERAAINRA LS YT IN—/TZ5vY =53 SS 15, 000
07 517 30 FTEREAILRALS YT EAArR =5+ SS 15, 000
07 5 17 33FC e S I3 PE i R A% SS 20, 000
07 5 17 34FC LHF—X bS5y T599 T+—ILTaTRNv o)L S 20, 000
07 5 17 35FC e S J)—>/T)— Tr—ILT4 TNyl SS 22,000
07 5 17 45 LHF—X bS5y EAArR =5+ SS 19, 000
07 5 17 63FC LF—RX S5y RV K— Tr—ILT 42Tyl SS 20, 000
07 5 17 64FC L= +b5v T T599 T+—ILTaTRy o)L SS 20, 000
07 5 17 65 LY—ZR b5y F(U7 4-2) I5v9 =5 SS 16, 000
07 5 17 65G LY—R T F(fR") 2599 =573 SS 14,000
07 5 17 66BR LY—ZR b5y F(U7 4-2) T590 =5 Joyv X 17, 000
07 5 17 67 LY—R b5 F(T 4-2) A= TS5y =5+ SS 14, 000
07 5 17 67G LY—R b5 T (FR") F—=H TV =5 SS 14, 000
07 5 17 68 LY—R b5 F(T 4-2) EAArR B SS 16, 000
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07 5 17 69GBR LY—R b5 F(FR) B—0IT59Y B JovX 17, 000
07 5 18 06 LYF—ZX bS5y T PiTAZR =5 SS 15, 000
07 5 18 33FC LY—R Sy I35 Tr—ILT 42Tyl SS 20, 000
07 5 18 34FC LYY= bS5y T T599 TA—ITA2TRv )L SS 22,000
07 5 18 45FC TEREAINAR LS YT FURSHA b Tr—ILT 42Tyl SS 42,000
07 5 18 46FC TERAAILRA LS YT IT— TA—ITA2TRv )L SS 42,000
07 5 18 64FC LHY—R Sy I59%9 Tr—ILT 42Tyl SS 20, 000
07 5 18 66FC LYY= bS5y T IT— TA—ITA2TRv 9L SS 20, 000
07 5 19 23 TEREAINAR LS YT gL— I=E SS 13, 000
07 519 24 TERAAILRALS YT A =5 SS 13, 000
07 5 19 43 LHY—R bS5y A I=E SS 15, 000
07 519 44 LYY= bS5y T I3599 =5 SS 15, 000
07 5 19 45 LHY—R bS5y A I=E SS 15, 000
07 5 20 08 LYY= bS5y T B—5T59y =5 SS 15, 000
07 5 20 14FC TEREAINAR LS YT ry—7J Tr—ILT 42Tyl SS 24,000
07 5 20 15GFC TERAAILRALS YT I759Y Tr—=IT42TNv 9L 5 L—PVD 28,000
07 5 20 19FC LY—R Sy 72599 Tr—ILT 42Tyl SS 24,000
07 5 20 19GFC LYY= bS5y T I7599 TA—ITa2T1R99)L 4 L—PVD 28,000
07 5 20 22 TEREANR LS YT R—Sa I=E SS 14, 000
07 5 20 24 TERAAILRALS YT I599 =5 SS 14, 000
07 5 20 29FC TEREANR LS YT IN—/T5v9 Tr—ILT 42Tyl SS 22,000
07 5 20 30 TERAAILRALS YT P AZ R =5 SS 14, 000
07 5 20 32 LY—R bS5y B—0IT59Y I=E SS 9, 000
07 5 20 35 LYY= bS5y T I599 =5 SS 9,000
07 5 20 45 LY—R bS5y T590 I=E SS 15, 000
07 5 20 51 LYY= bS5y T I599 =5 SS 8,000
07 5 20 52 LY—R Sy T590 I=E SS 8, 000
07 5 20 55 L= +Sv T H—=5T59y B SS 15, 000
07 5 20 63 LY—R +Sy T T390 I=E SS 15, 000
07 5 20 64 LYY= bS5y T H—=5T59y B SS 15, 000
07 5 20 65 LY—R +Sy T 7599 I=E SS 15, 000
07 5 21 02 LYY= bS5y T PiAZ R B SS 15, 000
07 5 21 03 LY—R Sy T390 I=E SS 17, 000
07 5 21 09FC LYY= bS5y T RIL F— Tr—=ITa TNyl SS 17, 000
07 5 21 10FC LY—R +Sy T B—5IT59Y Tr—ILT 42Ty oL SS 38, 000
07 5 21 24FC TFTHERAAIWALS YT J)—2/R—=Ta Tr—=ITa TNyl SS 23,000
07 5 21 25FC TEREAAINARS YT gI)—=2/0599 Tr—ILT 42T\ u o)L SS 23, 000
07 5 21 26FC TFTHXERAAIWALS YT I759Y PE i R A X% SS 23,000
07 5 21 28FC TEREANR LS YT IN—/T5vY Tr—ILT 42T u oL SS 23, 000
07 5 21 29FC TXREANRA LS YT TIN—/R=Da/T)— | TA—=ILTa2TNvy o)L SS 23, 000
07 5 21 32FC LY—RbS59 T T592 T+—ITaTNv )L SS 21, 000
07 5 21 33FC LY—R bS5 259y TH—ILTa TRyl SS 21,000
07 5 21 34FC LY—RbS59 T I5v9 T+—ITaTNv )L SS 21, 000
07 5 21 44 LY—R bS5 =0Ty B SS 18, 000
07 5 21 45 LY—RbS59 T T590 =5 SS 18, 000
07 5 21 61FC LY—R bS5 gL— TH—ILTa TRyl SS 21,000
07 5 21 64FC LY—RbS59 T I5v9 T+—ITaTNv )L SS 21, 000
07 5 21 65FC LY—R bS5 =0Ty TH—ILTa TRyl SS 21,000
07 5 21 66FC LY—RbS59 T =5 T)L— T+—ITaTNv )L SS 21, 000
07 5 22 05FC LY—R bS5 =TS9y TH—ILTa TRyl SS 217, 000
07 5 22 06FC LY—RbS59 T JL— T+—ITaTNv )L SS 27,000
07 5 22 14BFC TEREANR LS YT +1)—7 TH—ILTa TRyl 75y PVD 28, 000
07 5 22 14FC THXERAAIWRA LS YT A)—7 TA—ILTA2TI1Nv T SS 25,000
07 5 22 15FC TEREANRA LS YT I5v9 TH—ILTa TRyl SS 25, 000
07 5 22 15GFC THXERAAILVRA LSy S I235v9 TA—ILTA2TI1Nv )L 4 L—PVD 217,000
07 5 22 17FC TEREANR LS YT gL— TH—ILTa TRy SS 25, 000
07 5 22 19FC LYF—ZR bS5y T I235v9 TA—ILTA2TI1Nv T SS 25,000
07 5 22 19GFC LY—R +Syu T I5v9 TH—ILTa TRyl 4 L—P\VD 28, 000
07 5 22 22G THXERAAIWRA LS YT N—Ta =5 4 L—PVD 14, 000
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FEREAILALS YT

07 5 22 24B I5v9 =5+ 75 v 9PVD 15, 000
07 5 22 26 THXERAAILVRA LS YT TIL— =5 SS 13, 000
07 5 22 36FC TEREANRA LS YT JgL—/Ly Kk Tr—ILTa TNyl SS 25, 000
07 5 22 36GFC THXERAAIWRA LS YT JgL—/Ly Kk TH—IT AT I1N9 )L 4 L—PVD 28,000
07 5 22 55 LHY—R +Sy T =0Ty B SS 14,000
07 5 23 15FC THXERAAILVRA LS YT 23599 TH—ITA42T1N9 9 )L SS 25,000
07 5 23 16GFC TXREANR LS YT JgL—/Ly Kk Tr—ILTa TN u 9L 4 L—PVD 28, 000
07 5 23 17FC THXERAAILRA LS YT JL— TH—IT42T1N9 )L SS 25,000
07 5 24 10EB LHY—R +Sy T =0Ty TH—ILT 4Ny o)L | SS, THRFUYaUftE 40, 000
07 5 24 12EB LYF—R bS5y T B—5TS5oy T—ILT 42Ty | SS, THRTFUI aUftE 40, 000
07 6 14 32 LHY—R +Sy T =0Ty B SS 10, 000
07 6 20 32 LYF—R bS5y T 259v =5 SS 11, 000
07 8 14 10 ARLTLALY b SS Tr—ILTa TNyl SS 35, 000
07 8 14 12 AEIWTLARLY b aveE TH—ITA42T1N9 )L SS 45,000
07 8 14 32 ARILTLALY ave TA—ITA2TNVT)L SS 45, 000
07 8 14 79 AEIWTLARLY b SS PE i R AR SS 38, 000
07 8 17 18 ARLTLALY b SS Tr—ILT 42T v oL SS 36, 000
07 8 17 22 AEIWTLARLY b SS PE i R AR SS 36, 000
07 8 17 79 ARLTLALY b SS Tr—=ILTa TN u oL SS 36, 000
07 8 18 05P AEIWTLARLY b SS PE i R AR SS 33, 000
07 8 18 79 ARLTLALY b SS Tr—=ILTa TN v oL SS 36, 000
07 8 19 01 AEIWTLARLY b SS TA—=ILTA2TRN99 )L SS 45,000
07 8 20 18 ARLTLALY b SS Tr—ILT 42T u 9L SS 38, 000
07 8 20 19 AEIWTLARLY b SS L R AR SS 35, 000
07 8 20 22 ARLTLALY b SS Tr—ILTa TN u oL SS 36, 000
07 8 20 30 AEIWTLARLY b SS PE i R AR SS 36, 000
07 8 20 32 ARLTLALY b ave Tr—=ILTa TN u 9L SS 46, 000
07 8 21 05EB ARIWTLALY b SS TA—IWTA2TNYIIL | SS, THRTFUY avUftE 38, 000
07 8 21 05PEB ALLTLALY b SS TH—ILT 4Ty o)L | SS, THRFUYIUFE 38, 000
07 8 21 18 ARIWTLALY b SS TA—ILTA2TR9 )L SS 38, 000
07 8 21 79 AELTLALY b SS Tr—ILT 4T v L SS 38, 000
07 8 21 87 ARIWTLALY b SS TA—ILTA2TR9 )L SS 35, 000
07 8 22 03 ALLTLALY b SS Tr—ILT 4T v oL SS 217,000
07 8 22 19 ARIWTLALY b SS TA—ILTA2TR9 )L SS 36, 000
07 8 22 19-1 ALLTLALY b SS Tr—=ILTa TN uo L SS 36, 000
07 8 22 87 ARIWTLALY b SS TA—ILTA2TR99 )L SS 35, 000
07 8 23 19 AELTLALY b SS Tr—ILT 4T v L SS 36, 000
07 8 23 79 ARIWTLALY b SS TA—ILTA2TR9 )L SS 34,000
07 8 23 79PS AELTLALY b SS Tr—ILT 4T v oL SS 35, 000
07 8 24 05EB ABILTLALY K SS TH—ITa2TN9 )L | S8, THORTFUL 3 UftE 36, 000
07 8 24 05PEB AELTLARLY b SS TH—ILT 42Ny o )L | SS, THRFUYaUFE 36, 000
07 8 24 08 ABILTLALY K SS TA—ITA2TR99 )L SS 45, 000
07 8 24 15EB ARILTLALY b FaY TH—=ILTA TN DI | FEY, THRTUYaVfGE 53, 000
07 8 24 15PEB ABILTLALY K FRY TH—ITAVTNI I [FEY THRTUY 3 UffE 53, 000
07 8 24 50 ARILTLALY b SS T+—ILTaTRNv o)L S 31,000
07 8 26 74PEB ABILTLALY K FRY TH—ITAVTNI I [FEY THRTUYaUffE 51, 000




